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Section I Structure and Vocabulary

Part A

Directions:



Beneath each of the following sentences, there are four choices
marked [A]}, [B], [Cland [D]. Choose the one that best com-
pletes the sentence. Mark your answer on ANSWER SHEET 1 by
blackening the corresponding letter in the brackets with a pencil. (5
points)

Example:
1 have been to the Great Wall three times 1979.

[Alfrom [Blafter [Clfor [D]since
The sentence should be read, “I have been to the Great Wall three
times since 1979.” Therefore, you should choose [D].

Sample Answer

[A][BI[C] mm

1. By the time you arrive in London, we in Europe for
two weeks.
[A] shall stay [B] have stayed
[C] will have stayed [D] have been staying

2. I appreciated the opportunity to study abroad two years
ago.

[A] having been given [B] having given
[C] to have been given [D]to have given
3. Living in the central Australian desert has its problems,

obtaining water is not the least.

[A] of which [B] for what
[C] as [D] whose
4. The heart is intelligent than the stomach, for they are
both ‘controlled by the brain.
[A] not so [B] not much
[C] much more [D] no more
5. the fact that his initial experiments had failed, Prof.



White persisted in his research.
[A] Because of [B] As to
[C] In spite of [D] In view of
6. Jean Wagner’s most enduring contribution to the study of Afro-
American poetry is his insistence that it in a religious,
as well as worldly, frame of reference.
[A] is to be analyzed [B] has been analyzed
[C] be analyzed [D] should have been analyzed

7. The millions of calculations involved, had they been done by

hand, all practical value by the time they were
finished.
[A] could lose [B] would have lost
[C] might lose [C] ought to have lost
8. No bread eaten by man is so sweet as earned by his

own labour.
[A] one [B] that [C] such [D] what
9. It isn’t cold enough for there a frost tonight, so I can
leave Jim’s car out quite safely.
[A] would be [B] being
[C] was (D] to be
10. Scientists generally agree that the Earth’s climate will warm up
over the next 50 to 100 years it has warmed in the
20,000 years since the Ice Age.
[A] as long as [Blas much as

[C] as soon as [D] as well as
Part B
Directions:

Each of the following sentences has four wunderlined

-7.



parts marked [A],[B],[C] and [D]. Identify the part of the sen-
tence that is incorrect and mark your answer on ANSWER
SHEET 1 by blackening the corresponding letter in the brackets
with a pencil. (5 points)
Example:
A number of foreign visitors were taken to the industrial exhibition

[A] [B]
which they saw many new products.

[(C] [D]
Answer [C] is wrong. The sentence should be read, “ A number of
foreign visitors were taken to the industrial exhibition where they
saw many new products.” So you should choose [C].
Sample Answer
[AllB] mm [D]

11. It is perhaps not an exaggeration to say that we shall soon

[A]
be trusting our health, wealth and happiness to elements with
[B]
whom very names the general public are unfamiliar.
[C] [D1
12. It soon became obviously that instead of being trained to sing
[A] [B]
she would be trained as the astronomer’s assistant.
[c] (D]
13. He also conceived that the solar system and the umniverse
[A]
would come into existence by a natural process and
[B] [C]
would disappear one day.
(D]
14. The moon has a mass that is nearly one hundred times less than

(A
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15.

16.

17.

18.

19.

20.

the earth; in consequence, the force of gravity at the moon’s
[B] (cl

surface is only one-sixth _of that at the earth’s surface.

[D]
The Bunsen burner is _so_ named because it is thought
[A] [B]
to be invented by Robert Bunsen, who was German by birth.
[c] [D]
Much although 1 have traveled, I have never seen anyone
[A]
to equal her in thoroughness, whatever the job.
[B] [C] (D]
The weeds and tall grass in that yard makes the house look as if
[A] [B] [C]
it had been vacant for quite some time.
(D]
If only the nature of the aging process _is better understood,
[A] [B]
the possibility of discovering a medicine that can block the fun-
(C]
damental process of aging seems very remote.
(D]
When I consider how talented he is as a painter, I can not help
[A] [B]

but believing that the public will appreciate his gift.
[cl (D]

Allen has stated that he has always had a great interest and ad-

[A] [B] [C]
miration for the work of the British economist Keynes.
(D]



Part C

Directions:

Beneath each of the following sentences, there are four choices
marked [A],[B],[C] and [D]. Choose the one that best completes
the sentence. Mark your answer on ANSWER SHEET 1 by black-

ening the corresponding letter in the brackets with a pencil. (10

points)
Example:
The lost car of the Lees was found in the woods off the
highway.
[A] vanished [B] scattered
[C] abandoned [D] rejected

The sentence should be read, “ The lost car of the Lees was found a-
bandoned in the woods off the highway.” Therefore, you should
choose [C].
Sample Answer
[A][B lmm[D]
21. In that country, guests tend to feel they are not highly
if the invitation to a dinner party is extended only

three or four days before the party date.

[A] admired [B] regarded
[C] expected [D] worshipped
22. A of the long report by the budget committee was
submitted to the mayor for approval.
[A] shorthand [B] scheme
[C] schedule [D] sketch

23. When confronted with such questions, my mind goes
, and I can hardly remember my own date of birth.
. 10 .



24.

25.

26.

27.

28.

29.

30.

31.

[A] dim [B] blank (C] faint [D] vain

One reason for the successes of Asian immigrants in the U.S.is

that they have taken great to educate their children.
[A] efforts [B] pains
[C] attempts [D] endeavours

It is well-known that the retired workers in our country are
free medical care.

[A] entitled to [B] involved in

[C] associated with [D] assigned to

The farmers were more anxious for rain than the people in the

city because they had more at .

[A] danger [B] stake [C] loss [D] threat

I felt to death because I could make nothing of the
chairman’s speech.

[A] fatigued [B] tired

[C] exhausted [D] bored

Care should be taken to decrease the length of time that one is

loud continuous noise.

[A] subjected to [B] filled with

[C] associated with [D] attached to

While typing, Helen has a habit of stopping to give
her long and flowing hair a smooth.

[A] occasionally [B] simultaneously

[C] eventually [D] spontaneously

He failed to carry out some of the provisions of the contract,
and now he has to the consequences.

[A] answer for [B] run into

[C] abide by [D] step into

It is well-known that knowledge is the condition for

- 11 -



expansion of mind.

[A] incompatible [B] incredible
[C] indefinite [D] indispensible
32. People that vertical flight transports would carry mil-
lions of passengers as do the aitliners of today.
[A] convinced [B] anticipated
[C] resolved [D] assured
33. Your improper words will give to doubts concerning
your true intentions.
[A] rise [B] reason
[C] suspicion [D] impulse .
34. The mother said she would ___ her son washing the dishes if
he could finish his assignment before supper.
[A] let down [B] let alone
[C] let off [D] let out
35. We should always keep in mind that decisions often
lead to bitter regrets.
[A] urgent [B] hasty
[C] instant [D] prompt

36. John complained to the bookseller that there were several pages
in the dictionary.

[A] missing [B] losing
[C] dropping [D] leaking
37. In the past, most foresters have been men, but today, the num-
ber of women this field is climbing.
[A] engaging '[B] devoting
[C] registering [D] pursuing

38. The supervisor didn’t have time so far to go into it
but he gave us an idea about his plan.
.12 -
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